A AL & g =
1 2 B & Fa4 i AL
2 % b & “ARIRTHE SR A
3 A I B = SM5FE4A288 (%) 1481 0%
4 A # &5 FR TRKATHAR T 2 P AALER
5 I & &
6 & % ZAMTERAATH EEEYMBEEER
7 15 AT AR At N

8 ZHMETFEAR SF84#E5H31H

9 % N E #H BARH F—HhoF IR BEEXRH

10 & N & 5 7011401010984

11 SEILXERAN B mET ROTEET 1E 9

12 % Al 25 670,000H

737,000
13 = #9 ] i

O HHEERRVMAHEERDEEG67, 000H)

v = [SRRERIE. B
15 A # & mH&H
mes X F & W 5 1 [EAFLEE | 38 2 BIAALEE i %

1 B E VR AP — e 2RSS AR T 1, 114, 000
2B R =AY TR KR AT 670, 000 AL
IV G A=l S = e 1, 250, 000

4 AR ALY AT AERAH mBEHIE 1, 200, 000

BB BUEM T 1, 300, 000

6 =27 —RRAE . ARE T 1, 500, 000

TSN EOY Y 2 —va v 1, 000, 000
BIHIRAHE L AT F o RflE —AME £ 1, 100, 000

9 H Rt B B 3, 000, 000
10 ks HtT v~ 1, 450, 000

LOF & A
16 15RIHEH

MLZIMEREXLTEO TR AAEEEES] O REREWHERE ] (OB8E1H 5N, Y

N, BAENOAE 1 0B &4 T D,

17 f& %

21IR—2M1

AHLEEES : 2023000158




